N (107" erg cm™%787")

1]

f) (107" erg cm™%7'87")

1]

1, (1077 erg em™%7'87")

1]

f, (1077 org cm™%~'87")

1]

0.6

0.4

0.2

-0.2

0.8

0.4

0.2

-0.2

0.6

0.4

0.2

-0.2

0.6

0.4

0.2

-0.2

rm046 NLR 1640n 1640.42

rm046 NLR 1909n 1908.73

WinHW 900 km/s 1636 1645 S/N 0.00914 WinHW 900 km/s 1903 1914 S/N 0.249
T T T =
rms D(465+72) | | | | Fegs 0.0(6.1)E—1 rms 380(4 | | & | Fei VE~18
H mad o(396+70) 0.1(6.1)E-18 - 2 H mad 312(p96+72) 3
avg —844(—132155) | | || fwhm 88(B81:489 o~ || v 130(72152) ||
med —B10(-20+216) > 69(232+703) - || med 74422210
| top —810(-78+508) | | | | 1 +. S [ top —78(54+520)
® £
/\ | 1 3 -
L I | ]2 Soll
o
I § .T.°
o e
H = =oH
vi 2
1AL/ - o
L m h ’ J g ?' 1
—500 [} 500 —500 [ 500
velocity (km/s) z=1.259790 velocity (km/s) z=1.258790
rm048 NLR [NeV] 3346.82 rm046 NLR 3427n 3426.84
WinHW 900 km/s 3337 3357 S/N 0.00315 WinHW 900 km/s 3417 3437 S/N 0.531

[ [

e 388(463:80) |

Il T

I nlod 316(411£72) g S rad 325(393476) X g
—123(20+163) | 458(717524 -~ bvg 27(8+159) [ fwhrr} 595(668+514)
od —157(32:229) > 257(245+744) l" Ined —30(45:225) | > 305(247£711)
p —484(67+536) F R 3t hop —112(572515) | | | b
) -
: 8 4
£ o
o
g %
R
2 o
¥
Il e 3
-500 [} 500
velocity (km/s) z=1.259790 velocity (km/8) z=1.258790
rm046 NLR 3870n 3869.85 rm046 NLR 3969n 3068.58
WinHW 900 km/s 3858 3881 S/N 0.482 WinHW 900 km/s 3957 3981 S/N 0.339
s 391(a42271) || | |'F E-18 s 366(474182) | | : MZ.Z)E—1E
I Inod 357(38965) 1.4(2.8)E-18 | 2 rad 257(397:80) ; 0.8(2.2)E-1B
bvg 254(2252125) || fuim 842(478:£363) o | ofg —156(-364167) ! fwhm 286(667+523)
Ined 406(307:182) P 214(223£407) & od —229(~77+222) ' > 286(261+70)
[ fop 578(556+290) /\LJ\ b +- S Hp —278(-944500) | | " X i
» £ '
N oS '
1Ly I
L g ol I 171 T I i
@ 'f .
H || HEN
<0
2 o
2 ) I
o .
I a st LA L R [ ]
-500 ) 500
velocity (km/s) z=1.258790 velocity (km/s) z=1.258780
rm046 NLR 4103n 4102.89 rm046 NLR 4342n 4341.68
WinHW 900 km/s 4091 4115 S/N —0.0105 WinHW 900 km/s 4329 4355 S/N —0.00391
Ims 464(477+77) ' | | | | chln —-0.01(1\5 ms .’>11(4A-1t70)I | |
I fnod 394(409475) -0,02(1,51)E£18 | S} mad 438(388268) g
lvg 197(53166) | | | | Twhry! 6! 548) = avg —28(—99136) | |
Imed 239(72+239) 233769) = o | | med -55(-1722184)
I fop 857(180+559) | | ! ! 1 l:Jﬁ S [| top —639(+300+350) | | 1
»
L] | € E. V1
L | T 1 /1T T 13 H] g
N
1] V] |10 5 &
— ; w0
I g
o
b [N Ly 144 3

=500

0
velocity (km/s) z=1.259790

velocity (km/s) z=1.258790

BLR 14540 NLR 900 km/s BLR 14540 NLR 900 km/s BLR 14540 NLR 900 km/s

BLR 14540 NLR 900 km/s

0.6

0.4

f\ (107" erg em™2787")

0.6

f) (107" erg em™2787")
0.2

-0.2

0.6

0.4

f\ (1077 erg em™2~87")
0.2

-0.2

0.6

0.4

f\ (1077 erg em™%7'8"7")
0.2

1]

-0.2

mO048 NLR 3204n 3204.07

S/N 0.00686

WinHW 900 km/s 3184 3214
fms 0(433+73) j | | |
- nad 0(360+70)
hvg —B877(48133) | | |
ted —B42(82+165)
[ top —842(146+372) | | |

Foge 0.00(1.13)E-18
0.01(1.13)E-18 |
fwhm 68(589+395)
> 69(2394517)

-500 0
velocity (km/s) z=1.258790

rm046 NLR [OL] 3728.48

WinHW 900 km/s 3717 3740 S/N 0.889
s 430(426£35) | || | ~ Fogs :5.4(3.5)5—1|:
I rod 363(355+44) . 3.2(3.6)E-1f8 -
g —188(—17:4:76) Il | . fwhm 748(647:354)
od —60(—102+127) > 354(287+591)
- 69(—1912428) | | | E
L YT H i
Ik DA
ol AN 1
-500 [ 500
velocity (km/s) z=1.258790
rm046 NLR 4074n 4073.63
WinHW 900 km/s 4061 4086 S/N 0.00196
rms 0(472£74) | | | ] I Fegs 0.00(1.19)E-18
I [mod o(403+72) 0.00(1.19)E-18| |
avg —BB3(48160) | | | fwhm 68(688:+526)
med —828(75:228) > 69(232+736)
[ [top —828(150+533) | | | | E
| | 1 ! |

-500 a
velocity (km/s) z=1.258780

rm046 NLR 4364n 4364.44
WinHW 900 km/s 4351 4378

T
rins 487(472+75)
npad 444(399+73)
ovg —71(68+151)
rped —24(106+216)
top 347(188+471)

velocity (km/s) z=1.258790

BLR 14540 NLR 900 km/s

BLR 14540 NLR 900 km/s

BLR 14540 NLR 900 km/s

BLR 14540 NLR 900 km/s



